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Lesson 9: Product Rule

|l essan T Product Rule
Product Rule says the decivative of WO)=ubM0d
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Ex I.Given h{x)=3x <™ - Compute h(x)
.e. Fnd h'(X) by product nue.
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ExQ Given hx)=x"sipx . Compute h (%)
e Fnd p'(x) by product nue. Then plug T for <.

\l(y\:xa vVIx\=Sihx
e W (%) =X VI[X)= cosx
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Ex3 Given hb()zﬁ_x‘\(szﬁ-l) Can-ﬂguffe h'(x)

M-@'HGOA l F‘,’)d /n/(x\ )o’y .pl“od.ud— k.
L et W)= K= X" V(x)> 2x+Y
U'(x)= 2 x7"2 V(X)= L\x
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Method & Expond h(x) to uge Power Rule
h(X) = x’/ﬁ(élxﬁ Y
= ax A Yxe

Q ‘incf‘ rVL\(// B
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Moral: Just b/ec

there, 15 @ ﬂjrmlu{‘}

aﬂ()esn/‘l" MEAN

you need o wse
Pra.ducF rule
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HW 9.2 Given MY)Z(XQ+§7&)(—3A€+Q. Find b (X)

- _3x° | 4
X -3x? [ 6x”
Dx _I5x ¢ [30x

Se h(x)= ~3x7 = |5x “4 bx7+ 30X
Hence h!(x)=|— x40 x>+ X+ 30

for m-terms lay n-term

RW d 44 BEnd x-velues @ whih y= fxbo* hos a
h or1 Zovital 'Id\nﬁfﬂ‘f.
8. Solve y{d =0 For X
To Rind y/ Use Pf‘oluz’r ruié. Let
w(X)= Yx© v (x)= €
L= ale  Vitd=e

o A w0y +u v B

= MxleXy Uxle* =0
To sulve y/[x);a 2o x we need ts factor.
v/ ()= MxBeXy kxbe* =0
Ux®e* (t+x)=0

L]Xg:O C’X::D G+ X=0
Y =0 \;/ X=- b
Never lnappms
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Does Hhe jrr\gh cross

X—~daXis”
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Hence the Tingl answer
ore Y= O/ X=- 06
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